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Instructions . Y

Directions: Each of the questions below consists of a question andxstatements numbered | and Il given below it.
You have to decide whether the data given in the stat’eme\s ares ?ﬂoent to answer the questions.

a) The data in statement | alone are sufficient to answe%ecuiv i n, while the data in statement Il alone are not
sufficient to answer the question.

b) The data in statement Il alone are s f|C|ent to answer the question, while the data in statement | alone are not
sufficient to answer the question.

c) The data either in statement | alone or statement.|l alone are sufficient to answer the question.
d) The data in statement | and Il together are Mnt to answer the question.

e) The data in both statements | and I)z/é)gether are necessary to answer the question.
Question 1

Seventeen people are standing i W/n/t/lme facing south. What is Bhavna's position from the left end
of the line?

I. Sandeep is standing second to the left of Sheetal. Only five people stand between Sheetal and the one
who is standing at the e/(trm?e\ﬂght end of the line. Four people stand between Sandeep and Bhavna.

R
Il. Anita is standing fourth tfi the ]Fﬂ' of Sheetal. Less than three people are standing between Bhavna
and Anita. (i

-c:”?”'
&
A The data in statgment I alone are sufficient to answer the question, while the data in statement Il alone are not
sufficient to anhs\{er the question.
S Dy
B The data in statement I+-alone are sufficient to answer the question, while the data in statement | alone are not

sufficierlp’ﬁo answer the question.
.f;‘
C Thed t{'a either in statement | alone or statement Il alone are sufficient to answer the question.
\ |

J

D The daf\aWnt I and Il together are not sufficient to answer the question.

E The data in both statements | and Il together are necessary to answer the question.

Answer: E
Explanation: //
From statement 1 or statement 2 alone, we cannot determine the |t|o of Bhavna.

Using both the statements,

______ Sheetal _ Sandeep _ Anita __ Bhavna ...
So, Bhavna's position can be determined using both the statements bgethefté

Question 2

Five letters - A, E, G, N and R - are arranged from Ieft‘(\r‘r@‘tékiogb g to certain conditions. Which
letter is placed third?

I. G is placed second to the right of A. E is on the |mg|gd|ate rig t of G. There are only two letters
between R and G. \\

N
Il. N is exactly between A and G. Neither A nor G is at the e j me and of the arrangement.

& \
The data in statement | alone are sufficient to answer theques’fmn while the data in statement Il alone are not
sufficient to answer the question.

B The data in statement Il alone are ient t \EW question, while the data in statement | alone are not
sufficient to answer the question. '\

C The data either in statement | alone or statemen \dlone are sufficient to answer the question.
oo

D The data in statement | and II tog}étﬁer are not sufficient to answer the question.
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E The data in both statements | an@:l;ll together ane necessary to answer the question.

Answer: C \ 4

Explanation:
From statement 1 alone: R A NG E\ls the only possibility

From statement 2 alone: R/E A/G N GIA E/R is the possibility. So, the middle letter can be determined.

|
So, the question can be answer‘ed_‘ by_’uslng either statement alone.

o

Question 3

Six people - S, T,.U, V, W and X - are sitting around a circular table facing the centre. What is T's position
with respect to X2~

I. Only two people sit Béfi&.een U and W. X is second to the left of W. V and T are immediate neighbours
of each other.

Il. T is to the immediate right of V. There are only two people between T and S. X is an immediate
ne|ghbou|r of S but not of V.

‘\ ‘x.‘ / s
\'\\ = ('--
-

The data in statement | alone are sufficient to answer the question, while the data in statement Il alone are not

A . .
sufficient to answer the question.

B The data in statement Il alone are sufficient to answer the question, while the data in statement | alone are not
sufficient to answer the question. i /

r

C The data either in statement | alone or statement Il alone are sufﬂaen(t to answer the question.
A =R
D The data in statement | and Il together are not sufficient to/ arysyver tne questlo
W y! /

E The data in both statements | and Il together are necessary t%; answer thg questlon

[ '/ -
Answer: B [ Vi -\.\\\
[ A (] )
\’ N \‘\\‘ //_’//
Explanation: N = d

From statement 1, the positions are as follows: \‘ ’
X V/ [ W
\\
G |
/

A
\
(\
v\
F . VA
S W vl
T, VA —
- . - 7
-~ \ — /
T \ e .
-
~
_— A
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[
| I
J
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!
Instructlons\gac following questions consists of a question followed by three statements |, Il and Ill. You have

to study the question and the statements and decide which of the statement (s) is/are necessary to answer the
question.

Question 4

What is the speed of boat in still water?

I. The boat covers 12 km in 2 hours in downstream.

Il. The boat covers same distance in 4 hours in upstream.

Ill. The speed of stream is one third of that of boat in still.water. //,,_

A Bothlandll /

B |and either Il or Il / / =
f_//(\\\ & )

C Alll Iland & —

D Question cannot be answered even with the informati%n\ig all thr()é’statements

x\“\:\\
E None of these "\.\7
Answer: B (:\\\ ))
.
"‘\___/

Explanation:
Downstream = boat + stream = 2 + stream = \6\km/hr

Upstream =boat - stream = 4 - strea km/
Solving the above equations we get boat \4\ rand sfream =6-45=1.5

1
Speed of the stream = 3rd of that of the boat in s‘till rwer =15

Question 5 O o
What is the speed of train?
I. The length of train is 240 met g [
Il. The train crosses a pole in 24 ec\gnds /

lll. The train crosses a platform in §§g ds.

A Bothlandlll —

| r;/ ’/f'\\:::‘\‘:
B Bothland Il g 4 )j“'

L\L\u/ )
C Bothllandlll =
7

D Any two of thr
E None of these “*:\\\

~

Answer: B"

Explanatléb il

Length of the.train —/Zf 0om

Time taken%\g e pole = 24 seconds
240 o

Speed = 24 =10 m/s

Instructions
For the following questions answer them individually

LS
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Question 6

How many meaningful English words can be formed w7/4 éﬁ ngers Eu_g))‘smg each letter only once in

each word?

A None
B One
C\\\
C Two T \B
D Three & )
E More than three ~—
Answer: C “\

\
Explanation:

There are only two meaningful words that N from the four alphabets and they are CONE, ONCE

ﬁke IBPS SO Mock Tests

Instructions D
Instructions: Each of the following qués\e&_/on/s/sts of a question followed by three statements I, Il and Ill. You have
to study the question and the statement\aﬁd/deode which of the statement (s) is/are necessary to answer the
question.
Question 7 //T\

/\ \

Sri Gupta borrowed a sum a;l: com I;mnd interest. What is the amount returned in 2 years?
I. The rate of interest is 5% per al;l
Il. The simple interest incurr Jthe sum in 1 year is Rs600.
Ill. The borrowed ﬁlﬁm is ten times the amount earned as simple interest in two years.
A Onlyl )
&J

B Onlylll ,/'

C Both II|e‘nd weop

D Either |W/

E Alll Iland I

Answer: C

Explanation: /

Slin 1 year = 600 /

for two years = 1200 // //f\
|

Sum = 10 x 1200 = 12000 >
; /
600 = 12000*r*1/100 g /d -—
r=5% / «
: "\
Amount returned in two years = 12000(1 + 100)2 = 13230

N /
Question 8 \y

What is the area of the given right angled triangle? \‘\\ e
I. The length of hypotenuse is 5 cm.

Il. The perimeter of triangle is four times of its
Ill. One of the angles of triangle is 60°
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A Only Il (\
B Only Il Q \\f”_‘_fj
y \ —
C Either Il or lll Wy
D Bothlandll ,;,’.>
[

E Question cannot be answer even v'\(ith the inf?f-v’nation in all three statements

Answer: D \&\v

Explanation:

Length of the hypotenuse /Er’cm

Other two sides = 4cm ,3 ]‘n (p/}'ﬁ régn triples)
%

1
Area = 2 x base x height = 2 >ql3x4 )6cm2

=
(

Instructions \ '\\

Directions : Each of the \Qesgions below consists of a question and three statements numbered I, Il and Il given below
it. You have to decide whether the data provided in the statements are sufficient to answer the question.

./ “.

Question 4

How man (daughter ‘does W have?

I.Band D are the si ;lz’ers of M.

Il. M's fath T*rs@‘hé husband of W.

I1l. Out of the three children which T has, only one is a boy.

A Only I and lll are sufficient to answer the question.
B Alll Il and Il are required to answer the question. ps
C Only Il and Il are sufficient to answer the question.
D Question cannot be answered even with all I, Il and Il
E Only |l and Il are sufficient to answer the question.

\,

Answer: C

i@

N

Explanation: \t
Options 2 and 3 provide all the information needed to anS\th the question.

Get 790+ T\cks ?%r?Rs. 100

Question 10

Who among A, B, C, D, E and F, each havmg a dlfferent helght is the tallest?
I. .B is taller than A but shorter than E.

Il. Only two of them are shorter thé?{c\\\

Ill.. D is taller than only F.

A Only | and Il are sufficient to answer the quest|on. D

/
r{ 4

/
B Only I and Il are sufficient to answer the question.
\ y
C Only Il and Il are sufficient to an r the q/tlon

D Al Iland Il are required to answer the question.
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g Alll Il and Ill even toge,thera‘r& not sufficient to answer the question.

Answer: D

Explanation:
Using statement | aléhe E>B> A

Using statement lla lon\e. C's rank is 3.
Using statement IlI aloﬁé‘ips\rank is 5 and F's rank is 6.

Y
Using any two.of the three statements, we cannot answer the question.
&

Using all thfﬁée statements, C = 3rd rank, D = 5th rank, F = 6th rank; E = 1st rank, B = 2nd rank and A = 4th rank

|\1|1 }!'IE,'I

Towards w\higj] drr:ectlon is Village ] from Village W?

I. Village R is to o the west of Village W and to the north of Village T.
Il. Village Z is to the east of Village J and to the south of Village T.

I11. Village M is to the north-east of Village J and to the north of Village Z.

Question

y
A Only lll is sufficient to answer the question. .,-‘/
rd
B Only Il and lll sufficient to answer the question. /// //;-fg\
[l = / )
C Alll, Il 'and lll are required to answer the question. / / \(\ >
y -
/ 7 —
D Question cannot be answered even with all I, Il and Ill. / .Z/ /f,’:\%
/ f
E N f th X {\/ /
one of these & ~L_:\.\\\ ,/
Answer: E N SN
\
&3
Explanation: . Y

Statetments 1 and 2 are sufficient to answer the question. Hence{% i%n 5 is correct as none of the options indicate
this. o~

Question 12 \“\_//

On which day of the week did Suresh visit Chenna|7 (Assume that the week starts from Monday.)
I. Suresh took a leave on Wednesday.

Il. Suresh visited Chennai the day é:ft r hls other s V|S|t to his house.

lll. Suresh's mother visited his house on e‘FjMon ay nor Thursday.

~ \

A Only Il and lll are sufficient to answer the questioh‘.\?

2>

’__.'J/.
B Only I and Il are sufficient to ansy\’lgr the question.
‘ \ []

C Only I and Il are sufficient to ans\i{e(\the qu‘_e/ ion.

S

~——

D Alll, Il and lll are required to answer the question.

E Question cannot be an?@éred g\en with all [, I and IlI.

Answer: E 1} / \\ wd
W/
% A
Explanation: N
Suresh took leave on?Nednesday doesn't mean he visited Chennai on that day. Since Suresh's mother visited him on
neither Monday n Thyrsday, she could have visited on Tuesday, Wednesday, Friday, Saturday or Sunday. It is given
that Suresh visited :Qnaj_the day after his mother's visit. Since the exact day on which Suresh's mother visited his
house cannot be determikhe,Qk;he day on which Suresh visited Chennai cannot be determined. Thus, we cannot

determine the.answer exactly even by using all three statements.
4
[/
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Question 1\3\@////"

How is 'go' written in a code language?

I. 'now or never again' is written as 'torn ka na sa' in that code language.

Il.'you come again now' is written as 'ja ka ta sa' in that code language.

Ill. 'again go now or never' is written as 'na ha ka sa torn' in that de language.

A Only I and lll are sufficient to answer the question. /
y Vo
B Only Il and lll are sufficient to answer the question. [ ( \—)
C Only I and Il are sufficient to answer the question. / ) —
| . e
D Alll, Il and lll are required to answer the question. / (
"\
E None of these \‘\j/
Answer: A C\
.

Explanation: ) E

From statements | and Ill, we can determine the COdGW as 'ha', So, | and Il are sufficient to answer the question.
Instructions \\ =

Directions : Each of the questions below consists/of a question and three statements numbered I, Il and IIl given below
it. You have to decide whether the data prowdea in the statements are sufficient to answer the question. Read all the

three statements and give answer- \\’/1/7

Question 14

Among six people P, Q, R, S, T and V each Ilves%a different floor of a six-storey building having six
floors numbered one to six (the ground floor is numbered 1, the floor above it, number 2 and so on and
the topmost floor is numbered 6. 'Who lives on the topmost floor? I) There is only one floor between the
floors on which R and Q live. P li es on an e\(?n numbered floor.
Il) T does not live on an even nu \oered floﬁ . Q lives on an even numbered floor. Q does not live on the
topmost floor.
1) S lives on an odd numbered floor. There are two floors between the floors on which S and P live. T
lives on a floor immediate] above R's floor.

Y

..ff / r'\ .

A If the data in Statement | alyfd I arTYsufﬂaent to answer the question, while the data in Statement Il are not
required to answer the quetskon )

B If the data in Stalffément I and Ill are sufficient to answer the question, while the data in Statement Il are not
required to an 'é,r the question.

C If the data in State \NLand Il are sufficient to answer the question, while the data in Statement | are not
required to answer the question.

y /
D If the d’ ta in either Statement | alone or Statement Il alone or Statement Ill alone are sufficient to answer the

5 ]
questlt\)\ /)

A"
\ ra

E Ifthe da}a\\LL/mTj:hé Statements |, Il and lll together are necessary to answer the question.

Answer: E

Explanation:

Based on information in the paragraph, the person in the highest floor lives on 6 (even number). P, Q and R live in ever
numbered floors. T lives above R =. So, R is not the answer. Q is not in‘the top floor. So, P is in the top floor.
Information from all three statements is used to arrive at this solutien.

1 &S,
i~
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Question 15 \\ '\‘ \ )

\ .
There are six letters W, A, R, S, N and E. Is "ANSWER" the wo‘rd fprmed after performing the following

operations using these six letters only?
1) E is placed fourth to the right of A. S is not placed- |mmed|ately next to either A or E.

Il) R is placed immediately next (either left or right) to E,‘W |s placed immediately next (either left or

right) to S. NS
Ill) Both N and W are placed immediately next to S The wor does not begin with R. A is not placed
immediately next to W. -

A o
required to answer the question. “. . ~\' —
B If the data in Statement | and Ill are sufﬂuent to answer the question, while the data in Statement Il are not
required to answer the question. “,,
x’\‘.
C If the data in Statement Il and IlI ane sufficient to answer the question, while the data in Statement | are not
required to answer the question.| ( )
{ J
\ /)
D If the data in either Statement | a\]eﬁe or Sta;ement Il alone or Statement Il alone are sufficient to answer the

question. CR—

E |If the data in all the Stal;eft'n_é;ljts,_[, Il and Ill together are necessary to answer the question.

Answer: B [

Explanation:

Consider statements‘lrand lll:
|

The possibilities Wjjtﬁa'the information given in statementlareA_S_E_and _A_S _E.
‘HH\"-. A ",
Using statement Ill, the“enly. possibility is AN S W E R.

So, option b) js the correct answer.

flf':__ree Ba';,hking Study Material (15000 Solved Questions)

e

5 IBPS SO mocks for Rs. 117

Take IBPS SO Mocl,(ff/-ésts

Get 790+ mocks"'?g?r Eis.f';?idé\

\
\ \
/ / \

200+ Banking Previous Pa ers ﬂ)ownload PDF)

l- N\ [’
¢ 5 n ’.)

Free Banking Study Material (15000 Solved Questions)
Daily Free Bank'i"ri-';éi'-OnIine Tests
. \ )
Download nghly Rated Banking APP

‘\\

Latest joId:i]pq;i‘tgg-_-ganeIegram - Join here

Downloaded from cracku.in

If the data in Statement | and Il are sufﬂaenk to answer the question, while the data in Statement Ill are not


https://cracku.in/banking-study-material
https://cracku.in/pay/71pFg
https://cracku.in/ibps-so-prelims-mock-test
https://cracku.in/pass
https://cracku.in/previous-banking-papers
https://cracku.in/banking-study-material
https://cracku.in/banking-online-test
https://play.google.com/store/apps/details?id=in.cracku.app&referrer=utm_source%3Dibpspo%26utm_campaign%3Dprepaperspdf
https://t.me/latestsarkarijobs
https://cracku.in

100 Free Computer' I-\u\')\'l-é.l‘-enéf's.s Tests
GK Study Material for Bani(ih'g_-E_xams (Download PDF)

200+ Free GK Te's“t's_.for.-_,'Banking exams

Downloaded from cracku.in


https://cracku.in/computer-awareness-tests
https://cracku.in/blog/general-knowledge-questions-and-answers-for-competitive-exams-pdf/
https://cracku.in/free-gk-tests
https://cracku.in

	Data Sufficiency Questions For IBPS SO Set-2 PDF

